.     Expanding Single brackets    .

Skills:  Expand expressions with one set of brackets
Expanding removes brackets by multiplying into each term.

1)  3(2x + y) =   2x + y   2x + y   2x + y   = 6x + 3y

2)  5(9w + 4) =
3)  w(w + 3) =
4)  e(4e + 5) =
5)  2e(3e – 5) = 

 (Expand brackets first)
 Watch out for negatives!!   Collect ‘like’ terms

1)  3(m + 1) + 2(m + 2)



5)  4x + 3(x + 5)
2)  5(m – 2) + 3(2m – 1)



6)  -4(m + 3) + 5(2m – 1)
3)  5(e + 6) – 4(e – 3)




7)  6 – 2(3x + 7)
4)  6(2p + 1) – 2(p + 4)



 8)  3w + 2(4w – 5) + 10
.     Expanding Quadratics A    .

(x + 6)(x + 5) =
Multiply each term in the 
first bracket with each term 
in the second bracket

Watch the negatives

Remember from two brackets
four terms are produced











































































Examples


1) (m + 4)(m + 8) = 











2) (p + 4)(p – 8) = 











3) (a – 6)(a – 3) =











4) (x – 4)(x + 15) =











5) (x – 14)(x + 5) =








x





6)  -2(3p + 5) =





7)  -4(4x – 3) = 





8)  -3x(2x – 5) = 





9)  -3p(2q + 7) = 
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x + 6
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